## THE RATIO TEST

(B.Sc.-II, Paper-III)

## Group B

Sudip Kumar

Assistant Professor, Department of Mathematics Sachchidanand Sinha College Aurangabad, Bihar

## The Ratio Tests

1.

Theorem (D'Alembert's Ratio Test) :-

Let San be a series of positive terms such that.

is  $\frac{a_{n+1}}{a_n} < K < 1$ , where K is a constant

and n>m then San is convergent.

(i)  $\frac{(n+1)}{an} > 1$ , for all n > m then  $\sum a_n$  is <u>divergent</u>.

Proof: Hithaut any loss of generality, we can assume the condition to be true for n>,1. (: convergence or divergence is not

affected by omission of finite number of terms)

(i) Let  $\frac{a_{n+1}}{a_n} < K < 1$ , for  $n \gg 1$ .

0 9 00

 $\frac{\partial n}{\partial q} = \frac{\partial n}{\partial n-1} \cdot \frac{\partial n-1}{\partial n-2} \cdot \frac{\partial n-2}{\partial n-3} \cdot \frac{\partial n}{\partial q} \cdot \frac{\partial 2}{\partial q}$   $< K \cdot K \cdot K \cdot \dots \dots , (n-1) \text{ times}$ 

 $\frac{a_n}{a_1} < K^{n-1} \quad \text{for } n \gg 1.$ 

The Ratio Test:

But Egy Kn-1, is a Gr.P. series with common gratio K<1. . It is convergent tout live . By companision test San is convergent (ii) Let <u>an+1</u> > 1, for n>1. In this case  $\frac{a_2}{a_4} \gg 1, \ \frac{a_3}{a_2} \gg 1, \ \frac{a_4}{a_3} \gg 1, \ \frac{a_4}{a_3} \gg 1, \ \dots$  $\therefore \alpha_1 \leqslant \alpha_2 \leqslant \alpha_3 \leqslant \alpha_4 \leqslant \dots \leqslant \alpha_n \leqslant \alpha_{n+1} \leqslant \dots$  $\therefore$   $a_1 + a_2 + \dots + a_n > ha_1$ ... Sn > nay, Where sn=a1+a2+ ---- + an  $\lim_{n \to \infty} \operatorname{Sn} = \infty \quad (: \lim_{n \to \infty} \operatorname{nag} = \infty) \quad (:)$ . The series is divergent. Theorem (DAlembert Ratio test, limit form) statement: -> Let Ean be a series of positive terms such that  $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = L$ , then (i) Ian is convergent if 1<1. (ii) Σan is divergent if L>1. Remark: -> The test fails if L=1.

Broof: → is Let 1<1. We can choose E such that LtE<1. Since  $\frac{a_{h+1}}{a_h} \rightarrow 1$  as  $n \rightarrow \infty$ . ... There exists a natural number N, s.t. l- ∈ <  $\frac{a_{n+1}}{a_n}$  < l+ ∈, for all n>N.  $\frac{\alpha_{n+1}}{\alpha_n} < l + \epsilon < 1, \text{ for all } n > N.$ By above theorem, San is convergent.  $(\underline{i}\underline{i})$  Let L > 1. We can choose  $\epsilon$ , such that  $L - \epsilon > 1$ Since  $\frac{a_{h+1}}{a_h} \rightarrow 1$  as  $n \rightarrow \infty$ . . There exists a natural number N s.t.  $1-\epsilon < \frac{\alpha_{n+1}}{\alpha_n} < 1+\epsilon$ , for all n > N $\therefore \quad \frac{a_{n+1}}{a_n} > 1 - \epsilon > 1, \text{ for all } n > N.$ ... By above theorem, Ean is divergent. proved that differ altreadmain he Bd ... The given and is convergent for hit privilia mino of a. . have a

Scanned with CamScanner

Remark: → in Let Ean = Etn Then  $\frac{a_{n+1}}{a_n} = \frac{1}{1} = \frac{n}{n+1}$  $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{n}{n+1} = 1.$ . The series Ean is divergent. (i) Let  $\Sigma bn = \Sigma \frac{1}{n^2}$ The series is divergent convergent (: p=2>1) But  $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{(n+1)^2}{n^2} = 1$ . Hence the series may converge or diverge when l=1. Example (): -> show that the series  $1 + x + \frac{x^2}{12} + \frac{x^3}{13} + \cdots$ is convergent for all positive values of x. solution: > Here an = \_\_\_\_\_,  $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{x^n}{\ln x} \cdot \frac{\ln -1}{x^{n-1}}$  $= \lim_{n \to \infty} \frac{x}{n} = 0 < 1.$ · FROFERENTS . By D'Alembert's gratio test., The given series is convergent for all positive values of x.

Example (2): Test the following series is  
convergent or divergent:  

$$2x + \frac{2x^2}{8} + \frac{4x^3}{27} + \dots + \frac{(n+1)}{n^3} x^n + \dots (x > 0).$$
  
Solution: There  $a_n = \frac{(n+1)x^n}{n^3}$  and  $a_{n+1} = \frac{(n+2)}{(n+1)^3} x^{n+1}$   
 $\therefore \lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \lim_{n \to \infty} \frac{(n+2)x^{n+1}}{(n+1)^3} \times \frac{n^3}{(n+1) \cdot x^n}$   
 $= \lim_{n \to \infty} \frac{1}{(n+1)} \cdot \frac{(n+2)}{(n+1)} \cdot x$   
 $= \lim_{n \to \infty} \frac{1}{(1+\frac{1}{n})^3} \cdot \frac{(1+\frac{2}{n})}{(1+\frac{1}{n})} \cdot x$   
 $= \lim_{n \to \infty} x = x$   
Hence by D'Alembert's test the given series  
is convergent if  $0 < x < 1$ . and the the  
series is divergent if  $x > 1$ .

At x = 1,  $\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = 1$  and the test fails.

At 
$$x = 1$$
,  $a_h = \frac{n+1}{n^3}$ 

 $\lim_{n \to \infty} \frac{a_n}{b_n} = \lim_{n \to \infty} \frac{n^2(n+1)}{n^3} = 1 \ (\neq 0)$ first in the first for heading as

Scanned with CamScanner

¥

: 
$$\Sigma bn = \Sigma \frac{1}{h^2}$$
 is convergent  
:  $\Sigma ah$  is convergent.  
Therefor the given series is convergent  
when  $0 < x \le 1$  and divergent if  $z > 1$ .  
**Example(5)**:  $\rightarrow$  Test the convergence of the series  
 $\Sigma \frac{n^2 - 1}{n^2 + 1} x^n$ . ( $x > 0$ )  
Solution:  $\rightarrow$  Let the nth term of the given  
series be an denoted by  $ah$ .  
:  $ah = \frac{n^2 - 1}{n^2 + 1} \cdot x^h$ ,  $ah_{t1} = \frac{(n + t)^2 - 1}{(n + t)^2 + 1} \cdot x^{h+1}$   
:  $\lim_{n \to \infty} \frac{ah_{t1}}{ah} = \lim_{n \to \infty} \frac{1}{((n + t)^2 - 1)} \cdot x^{h+1} \cdot \frac{(n^2 + 1)}{(n^2 - 1)} \cdot x^h$   
 $= \lim_{n \to \infty} \frac{n^2 + 2h}{n^2 + 2n + 2} \times \frac{h^2 + 1}{n^2 - 1} \cdot z$ 

$$= \lim_{n \to \infty} \left( \frac{1 + \frac{2}{n}}{1 + \frac{2}{n} + \frac{2}{n^2}} \right) \left( \frac{1 + \frac{1}{n^2}}{1 - \frac{1}{n^2}} \right) \cdot \chi$$

$$\lim_{n \to \infty} \frac{a_{n+1}}{a_n} = \infty$$

Hence by D'Alembert's gratio test, the given series is convergent if 0 < x < 1 and the series is divergent if x > 1.

At 
$$x = 4$$
, the given series becomes  $\sum \frac{n^2 - 1}{n^2 + 1} = \sum a_n$   
 $\therefore$   $\lim_{h \to \infty} a_h = \lim_{h \to \infty} \frac{n^2 - 1}{n^2 + 1}$   
 $= \lim_{h \to \infty} \frac{1 - \frac{1}{n^2}}{1 + \frac{1}{n^2}} = 1 \neq 0$ .  
 $\therefore$  At  $x = 4$ , the given series is divergent.  
 $\therefore$  The given series is convergent if  $0 < x < 4$   
and divergent if  $x > 1$ .  
Example Test the convergence of the series  
 $\sum a_h = \sum \frac{x^h}{1 + n^2}$ , where  $x > 0$ .  
Solution:  $\Rightarrow$  Here  $a_h = \frac{x^h}{1 + h^2}$  is  $a_{h+1} = \frac{x^{h+1}}{1 + (n+1)^2}$   
 $\therefore$  lin  $\frac{a_{h+1}}{a_h} = \lim_{h \to \infty} \frac{1 + h^2}{1 + (n+1)^2} \cdot x$   
 $= \lim_{h \to \infty} \frac{1}{h^2} + \frac{1}{1 + (n+1)^2} \cdot x$   
 $= \lim_{h \to \infty} \frac{1}{h^2} + \frac{1}{(1 + h)^2} \cdot x = x$   
If  $x = 1$ , test fails.  
Let  $b_h = \frac{1}{h^2}$  and  $\lim_{h \to \infty} \frac{a_h}{b_h} = \lim_{h \to \infty} \frac{h^2}{1 + h^2} = 1 \cdot (\neq 0)$   
 $\therefore$  By comparision test  
 $\sum a_h$  is convergent. ( $\therefore$   $\sum b_h = \sum \frac{1}{h^2}$  is convergend)  
Thus the given series is convergent  $=$  if  $0 < x \le 4$   
and divergent if  $x > 1$ .

